) €5)-x (b= ()
(-s)- 9~ b * 3
25-4xer >
QS,;qXB

AS =1



(D (69n () 5-(4)
(3e95-69






Algebra 2 - Class Notes
Evaluating Functions
(Numbers from a Graph)
&

Function Operations

DIDYOU SERIOUSLY JUST
ASK YOUR'MATH TEACHER

N

IF YOU HAVETOISHOW
YOURWORK2D




What does the expression
f(4) = - 7 mean?

When you plug in 4 to f(x), you get -7.



Use the following functions to evaluate #
1 — 6.
f(x) =x2—3x-1

g(x) = ;%3
h(X) = [7x-3|

Nia £ X—3x— |
£(2)=(3)-3(3) -
= 9-9-1

l



Use the following functions to evaluate #
1 — 6.
f(x) =x2—3x-1

g(x) = 3x-3
h(x) = px-3
2) h(10) )'_]*ID-B)
| 70-3
| 67\

X



Use the following functions to evaluate #
1 — 6.

f(x)—x2—3x— 1

g(x) = 5%-3

h(X) — |7" 3| 2

(l) 3(3?3

QJL \/
:__‘._-__(L__i-_- 4
9 L y Y



Use the following functions to evaluate #
1 —6.

f(x) =x2—3x-1

g(x) = 33

h(X) = [7x-3

4)9 (

(%

-"'_"—.._.

. __é_ e

4
@,



Use the following functions to evaluate #
1 —6.

fx) =x2—3x-1

g(X) - 1. &

h(x) =px-9

5) h(2.5) = /7075 3 /
- /17.5—3[
= |i¢s|

V1S



Use the following functions to evaluate #
1 —6.

f(x)—x2—3x—1 -
g(x) = 3x-3 D f
h(X) - |7x 3

3
g(12) = -—(13)" i Lk'l’
—_ 6—- —:—5-

S | L
R S



Function Operations

Addition f(x)+g(x)=(f+g)(x)
Subtraction f(x)-g(x)=(f-g)(x)
Multiplication | f(x)g(x)=(/fg)(x)
Division

(e




Use the following functions to evaluate #7-15.

fod = 2 -8 g(x) = 4x - 1

@ f(x) + g(x)

3y +—4

h(x) = 2x2 +5



Use the following functions to evaluate #7-15.

f(x)=3x2—8 g(x) = 4x - 1

A Ry (55

Qirs-3K+2

—

h(x) = 2x2 +5



Use the following functions to evaluate #7-15.

2 g(x) = 4x - 1

fo)=3x -8 h(x)=2x2+5

29. () - g
3x—g— (42— 1)
Ix- 8- $X+

3 K-



Use the following functions to evaluate #7-15.

f(x)=3x2—8 BN s h(x)=2xz+5

| (g ) —(f(x) +ho) N
é)b(t}x—-h - (3x-8)+(2x +S)

x—| -3X+8+ 2 HS

XTI+



Use the following functions to evaluate #7-15.

f(x)=3x2—8 g(x) = 4x - 1

G

Y +2OX~—2A =S

h(x) = 2x2 +5



m N
Use the following functions to evaluate #7-15. )( ’ >>((rr\+ A

f(x)=3x2—8 BN s h(x)=2x2+5

f2. h(x) s
(7 QUE



Use the following functions to evaluate #7-15.

2 g(x) = 4x - 1 hx) = 2)‘2 o

/}5 (f + 9)(3 —FC’Q‘F‘jC?’)



Use the following functions to evaluate #7-15.

f(x)=3x2—8 BN s h(x)=2x2+5

& 9-h)-2) q(- 2)-h(->)
(hD= (37 | 43)-| — )

_x Y% —6
A ~q - (\»
2y - ()
-$ 8- -1

-2



Use the following functions to evaluate #7-15.

f(x)=3x2—8 BN s h(x)=2xz+5

(EE]. (g * h)3)
9(-h(3)
(11)-(23+5)
QNESY

<3>3



fix) =y

When looking at a graph:

1. Find the x-value given.

2. Ask: Where does the function exist at that x-value?

3. That y-value is the answer.



Use the following graphs to answer #16 - 25.

f(x) : g(x)
2 a
AL
Al \

R ,s':s 2 -1 1 3 3 \I\

/ B

r'} -2

/
/ 3

16. f2) = | 17. g = 18. f:3) =D



Use the following graphs to answer #16 - 25.

f(x) ’
2 c-\\
A A
/’—\\ —34+ o W \.\
\
;'/ A “
4 B 2 1 F 3 &
/
/ -1
!/
/ 2
{
/ )

W=D
©.

9(x)

~20. g(-3)
17.



Use the following graphs to answer #16 - 25.

f(x)

’ g(x)

21. 1(3) -

22. g(-1)+f-2) 23 f(1)—
1) O+ | ]——- I)
| A



Use the following graphs to answer #16 - 25.

f(x) : g(x)
//’“ :_‘4—0 » \
y“/l )
/ 3
24. 10f(1) 25. f(4) + f(-4)

[0(-2)=—2>  0Q+-3°=



‘DJ',R: ‘;?/3/ b/%

£valvate

1) 14+ 69> 3-3

14+54+3—B
14+ 12—&

24 i
Nt *@"73*3/
4g- (18)+ 9




